0 'ectiveIOf tge
mai? palas in L1€
nd twitnessed during

5 the

t wé

g a
hard®  sgle

Partite strvé
trl

iod ? de
this P e(rylrftrol the %%
C

1) ;I};(; Gang?

route through

Kanaj to 2 feudatory

. 1) supremacy over Kanau)
vtant Rashtrakutas from
e .

zeg:; was defeated by Sher Khan in
. he battle of Khanua in 1540.

B. With help of Iranian rule he captured
" Delhi in 1555 A.D.

Choose the correct option from t

codes given below.
(1) Aonly %
3. Who was the fo er Yof the ‘Drain
Theory’ which,%? thers, exposed
in

(2) Bonly

(3) Both Aand B
(4) None of the above
the constant d wealth from India
to Engla %

(1) DadabhafNaoroji

(2) Gopal Krishna Gokhale

(3) R.C. Dutt

(4) S. N. Baneriji

4. Jana Gana Mana was translated by

Gurudev Rabindranath Tagore from
Bengali to English in

(1) 1896 — Calcutta

(2) 1919 — Madanapalle
(3) 1911 — Calcutta

(4) 1947 — New Delhi

« bg -
188 sy, . A
05\1) «
RS Frsyg \ sjmn 0G5y &0y
( ) Ko " é@%o,
S
2) 3, 3 o
Nle)
@) 538>, « s
A
4) o
s%@z‘s&vod
2. «
A, ;
263rS
N PO QS Yoy
Q. 30°S 500K SBaost &
3.
0 GO o0y, T ine
‘c\/)g‘é ﬁwmﬁ)& 08 DaHod R
(1) A s
(2) B srgdy
(3) A %8050 B

(4) 229 =

3. 475 K006 Fommolis Bewts SBFEod Drain
Theory &3 oz ©8360256 25 9

(1) oorera &R
(2) RrosyRed
(3) eb. 2. &5

(4) . 3. BEY

4. 2S00 Ao “eRrHRR” o w:zé;og
[00 oS8 BAoETH oD B (€0
roold siTto B ?

(1) 1896 - 55T
(2) 1919 - EHR
(3) 1911 - %5 3
(4) 1947 - 375 &d

(©)



5.

. Making a Constitutional prC&n
for Local Government ca%be t

o
e
Settlemw llp the
@)) R ent foy ; lie t 5
Obe en nq
(3) Lorq - Sting,
( ) He nWath
n
r nSittart
Zho > the fo))
regul 0 lng
ndia ? he right o :ft the power
1zenshij
(1) The Pr Mg p in
1stey

explained as an exercise

(1) Delegation of Powgf's V
(2) De-concentrat'on%owers
(3) Democrati @traliza’cion

(4) Building a onfederation

5. BormrSS

6. FCIT

VSEAAS

250530 2157030 DA (Land

Revenue Settlement) BATBODID.

(1) ool g

(2) 5705 TR
3) ob =& =0
(4) 52058

2 éoagoaofi)é 90T DR VOHOBoD

et J308 600 ‘-’%
3 -"?&?

Nog:508, S oegrHI0, IOTOK Fogr

Srogons K& SiiveT $20e3

7. L SepERED H0R0R00 Tegriod” §7
exoFreD 2870 BO IB80D 2

(1) Gs™S S8

(2) 650 IS0 BEses

(3) Serargig Doses
(4) &gy Aooeso

8. 1985 T%38 oGRS’ NS &
BA0Y. &8 HIO0KPAS HONG PSS INC ?

(1) 2 &%amg

(4) ?0. &oma&



9. a8 FTHAAR
+ SR 0 TRk 50800,

% owi stateme” o8 A
9. Consider ef,f}llz Andhr? :r ] with - 1956 738 w0 Ty !
' : e
Lelglsa atw. tive AS° papuji ¥ B. & Somr o565 erird wogs
on onda LaksY ° gpeaker ? REY0 Boocses s 2699 20
Sri Ko o fir islativ s Nog)gag_owgd)_
elecf:ddh adesh Le8 2 T3ROS TEROR K80
the AD Qodod .
Assembly- sonti e inco” ecC (1) A SrEo
hel en
Ofthe above, t 2) B
statemen ( ) bJ"@é;%o
(1) Aonly (3) A 50805 B
(2) Bonly
3) Aand (4) A 565, B
4) Neither A nor B
10. Andhra Pradesh has had both IBgiSl.ative 10. &G &% T 5700 &8O e
. Assembly and Legislative Council f or éﬂ% K850, DT BOIGLH Bk I
W1l -
many years. Who among ﬂle. follofﬁ g RETEIEEOTT SV T i 9
occupied the position of Presiding Ofnicer '
for both the Houses of Andhra Pra}desh 1) 5. sored
Legislature at different periods of time ?0
(2) @i . e

(1) P. Ranga Reddy &
(2) Dr. A. Chakrapani %

3) Muttamsetti Srinivasa

4) K. Vijayarama Rao

@rea that is
ovefnment control

3) Earmaﬁ or commercial
exploitation with restricted grazing

(4) Without any economic activity

12. Which among the districts of Andhra
Pradesh has the longest coastline ?
(1) Visakhapatnam
(2) Srikakulam
(3) Vijayanagaram

(4) Nellore

(3) S08c3 B0

(4) 3. Je0HTKTTY

11. “0ubf T JBOL™ &Y
(1) O e osbogend’ & 8o
(2) esBTRe ERRONS Proto
(3) ke WSO S0 SOWT 5090
§%0 &BoS oo
(4) 88 ST & Erodo

12, esogicdRs’ od Jo Hte BAVES
(1) dFegRE
(2) Bt
(3) Desasbywo
(4) Sr "



14. Consider the following statements

15. Navaratn

13. Considey .

A. € Iollow;
SeVere ACu Wlng Statement
€Spirat, St
ory J; Ory Infects
Y disease cause?iclgmn
Yy a

the Inteppa,: the tery,

nat
TaxO 10na] .
NOmy of ViruseSOm mittee on

Of the st
at
are emen

(1) A only

(2) B only

(3) Both A ang B
(4) Neither A nor B

ts
above, the correct is/

regarding Mission Antyodaya :
A. The Mission is being carried

out under the Ministry of Rural
Development.

13, 558D TS

14. « 4

with disabilities.

Select the correct option.
(1) A only Q?“

(2) B only
(3) Both Aand B
(4) Neither A r&
tRe Welfare Schemes

nt of Andhra Pradesh.

of Gover S llowing are a part of

Which of
them ? _
A. Amma VOdl
B. YSR Asara
C. Banon Alcohol

p. Jalayagna®

VSEAAS

5800w

5520 TR TP FroEmIes TH e
A. OS2 ¥

255 T5 ER

;5:35—19 o5 DTN 206 BDHSS K263 &8
B. L5 ) ?_cjfo HAITBoD.

LTS

o SITTTR rogoBod
‘OQ—

1) A é?@?“’sp

(2) B¢ %
@ A7 %
(4) A D ?ﬁi&
Yy Doofon) B2 §od
oH0ls.
L5 [COEd EARNNARSE AR
@000 VLT

90

°

Koo N TORS) Fople x2S Fogrg0
B. Th,e programme aims to achie 0 g)w%;éo =8 Xbég &0%0
universal accessibility for per sdno e

B BTN Kagoiﬁo& :
(1) ASr@
(2) B 5@
(3) A 0o B
(4) 2 D 5

5685 3508° eogTyes 3D 2
A. @:33&5"&

B. 2.0.e30. &35

C. e Jotso

D. 230abgo

(1) A bt B

(2) A, B 50000 C

(3) A, B, C 08010 D

(4) A, Bodam D

15. esots Bedto esen TRy “HEe” &

©



painful activity
(1) were you

(2) him

(3) exhausting and painful
(4) no Error

22. Ever since the quality
education came ic

under
scrutiny, sugges@r upgrading
the professior& nding.
(1) Ever sinc

(2) Quali

3) upgrag&

(4) are abounding

23. If anyone cares to join me in this

VSEAAS
“ $53080).08° 55335
LB’ KOH ST U 2SO 336
20. ;i c;bi oo, (OB, HIEN,08 600 &,
&88235 K@%wwbm DA ?

(1) 800
(2) 850
(3) 900
(4) 950

Note (Q. No. 21-24) :
The sentences in th
errors in gra

mm
or idioms. Eit\& S 'juSt one errorin g
sentence or the sehgence 1s correct. Choose
the incorre‘%ﬁud/words from the choiceg
given af sentence :
gre you, I would never permit him

take part in such an exhausting and
painful activity
(1) were you
(2) him
(3) exhausting and painful
(4) no Error

may contain

22. Ever since the quality of teacher
education came under public scrutiny,
suggestions for upgrading the profession
are abounding.

(1) Ever since

(2) Quality

(3) upgrading

(4) are abounding

me in this

23. O]
3. If anyone cares to join £ ture

. . .1 the near future campaign either now orin the near
Eﬁg;p?vlﬁ’{l ‘t? ét}vlveé?gxgglgr;tefully theypwigﬁl be welcomed gratefully
(1) If (HIf
) to join 2) to join
(3) either (3) either
(4) they (4) they ©



lace Of
16. What should 0 7 gﬁowing
question mar in the
equation ?
64 +15x 0.3
(1) 15.2
©2) 21.6
(3) 36.2
(4) 24.4

~ 7
6’33-2"

: 17. 2
in the following 4,48 59, 156, 1
17. Find the nex 085 JAoe3 9

~—— %
number series. %b%
1) 546 @

24, 48, 52, 156, 162, —
(1) 546 ) 1168&

(2) 1168 (3) 64
(3) 648 (4 V

(4) 638

)

18. What amount would Krishna T eceIVe ‘()i O e e 8,500/- o, [
on a principal of 3 8,500/- after 2 g8 QTR Toos 16% Zac;am S

TIPS 3G 3

. . I'a o @S-bdo @ °‘)>'

3 months on simple interest at% 8o fﬁ{ﬁ{)m ? b S 5 2o
(1) ¥10,460/-

of 16% per annum ?
(1) ¥ 10,460/- ;
(2) ¥ 11,560/-

@) T 11,560/-
(3) T 15,500 0 (3) 315,500/
(4) T 14,25QL | (4) X 14,250/-

19. The dﬁence between a two-digit | 19. SocioSe SoggH0axkw & Doticde dog
number and the number obtained 09GBS TG 5 “ 5
by interchanging the two digits of e i
the ngprer is 27. If the sum of the 27. 6033565(‘0 Ootsose o 11, o &
two d}glts of the number is 11, then Sogs I8 2
what is the original number ? .

(1) 74 (1) 74

(2) 83 (2) 83

(3) 65

@) 85 (3) 65
(4) 85

(€)



10

£ List =1 | 24 Maggy
. jdioms it — 1L - . Olowine : 1.
24, Match the follo¥178 1given under L2 W1Eh thejy mear:lnrtggsgm’ns Undgy ;.
with their meanings List - 11 List _ | Ven Undg,
List- : . To apPlf‘i“d o E o But ongyg , Ligy
& To put.ors rd somebo s){y St foot fOrWard T APply
best foot forWa™ generousty’ BT Mg !
9, To force ones : ;PO g“t,)e , iehemusly
B. To give . " wa Omebody g 1. - Tog,
somebody a b1g ey hang Yabig Way Tee Ong,
hand . . C T 1
, To inflict - Lo elhow o
C. To elbow one’s 9 similar way TP il
" punishment Slmilay
’ . Punjg),
. doones D. To ve g e
D.Togive aneye 4 gost for Y& 4 T4, o,
for eye € t Q best
. To chea
° somebody 5. To cheat
) A— 4 B Somebody
(1) A-4,B-5,C-2,D-3 Q@)A Bo5.0_pp s
(2 A-2,B-3 C-5D-1 ‘2’3‘3,C~5D

D1
3)A-4,B-1,C-2,D-3 & M A-4B-10 5,
4 A-4,B-2,C-1,D-3 % WA-4B-20_1p_,

25. Consider the followin%tei::ents 1 25. 59%0 TGP 30800 -

A. The YSR Akshaya Patra Scheme A. 355655, s «
is a sche wovides Mid-day ;J ) % i ® S0y 3”&5%%@5
meals ig“Schgols. T 2550 ek,

B. YS

ion Kanuka seeks to B. 2R.e5, b@?&gwééqsgogw%m

prov monthly pension to old OB, AT B0 Sosd8e de
Age Persons, widow, Toddy Tappers, . 93;5‘@@ ' 9%% %gm,’ .
Weavers, Single women, Fishermen, SIS, 2060 5,0 e
Traditional Cobblers to3 2,250/- per % X 2,250/- 235 3ecisod
month. 308 SR 100006
Which of the above statements are
true ? (1) A srgd
(1) A only
S0ao B
(2)A&B A2) A
(3) B only (3) Birg

(4) Neither A nor B

(4) 22N



ana

arch Insgement

RGSe )
titute

217. Neeti Cha
(1) Paravasthy o
@) Dharmavaram

. amakﬁshnamacharya
(3) Kolacholam Srinivasa Rag

(4) Tadipatri Raghavacharyulu

ndyj
1ka wagq Written fy

Naya Syyj

28. Who of the following Sciengists
Technologists from Andhra Pr'%is
credited with the discover yl
Carbamazine (DEC) pofu a? known

as ‘Hetrazan’ a

drug thaf was used by
WHO against ‘F@is’ )
(1) Dr. K. L. 3&“
(2) Dr. Y. Nayudamma

(3) Dr. “Avada Subba Row

(4) Dr. A. ao

o new state must be

29. The bill £0 €08 o ment with

approved by the-a |
(1) a special maj'on.ty )
(2) a special majority W1

states L
of the concel'.lfleflt . with ratification

1, ratification

b

‘m le ma]OI'l .
@ (a)lfstlhe%:oncerne.d state
(4) a simple B

VSEAAS

26. esossts HVOSED DGO 2014 @60 Bgeo
oo U"r?"dg«‘é b CRgR00 eS0BS,
Boonre TgroS ESGTT® GORTO. 53

Rlebslellala) 3558 8 ?

(3) poeaSTeb L3
(4) b wob ob

SoPRE0eS Leqi}‘i)oﬁ 0%
o) o 5’5%6

27 “8Y $oOF sl

(1) 305K
Sfobvo @D?J"E\/)U"S

TGHED TP T E50

S0 -

28. ‘CHpS SR (Diethyl Carbamazine)
BT “reTresS e wobT. o by
509 &5+ T “Dkoro sveo” (Filariasis) &
TR KOT0 DOHOLD IR 0B, BT
SR SSOEISET DO Tigakl XD 9
(1) &3 5. T
(2) = Ty
(3) T QDI K0T
4) T M. T

29. 3783 oogro Aonen DowoFods Aegdd
FER00L5 O RerdeSE e53rBoTd ?
(1) 855 202063
2 @3§§ 063 500K Howodd T
G0
(3) dgroes Boerbed 53000 $30RodS TP
a0

(4) Sroroses Roeroes
(©)



A e f,
The dlSt Ollowln
be tra, WMee o sty 13 VSEAAS
oo catey stf}?rrede\t.whiehments :
B Compy,, (oo th B, Jata o | 33 semmet sopoiel v
- Datg ove Catig,, ! Ne;""th i A fap oS wrearS D000 9g SRS
ghlle datz NF CanC) tech;()l;iel d (NFC) m@é’ 50{335‘91);565”(50&9,3"263 269
Nerypeq ™ Blugg, ¢ engpy 35300,
Which of ted. ety Cncrgpted B NFC & Bere> 258 BB
ot :
COrrect ? he bOVe " t be wwéés aa 5"@50 o0, 9
(1) A Only e entg is/a 2 3 & 509 St oS VAN :
4) Nm:'tl Aang (2) B 5@
el
her A nor B (3) A 000 B 6
239 D) 570
34. A fault i (4) 22 &ﬁ
prevents it frompw er Program which 34 §oéy°5€35 & o &80 (Fault) &0k, ed
known ag Orking Correctly ig _ 7 K055, HAD DH00eTEd ?
(1) BOOting
(2) Bug
(3) Phishing
4
(4) Spam @) 3%

A

35. Which one of the followingi c t

about “E-commerce” ?

(1) It involves issuaan‘i_l ortant
business reports g theNinternet

paper based

ecision ma}(ing
rough public opinion
cts business over the

gV edic gods

ing Ri
wine petween the

86. Which of the followin{
acted as an intermed‘l)lary
gods and the people :

(1) Indra
(2) Varund

(3) Marut
(4) Agnl

35. 3 - 500y 00D KD 0T HYOWG.

1) 306353565 NRVEIVRIY 3"53"(5 RRTALGN
NleNalo

(2) 300252656" 200 &0 T BIL DI
(3) PerdroXo T AYoarEse &N
B0 Dod

(4) 306565 o°o° 3"53"6 QTG

36. eroth, Be SO BeFO0Ds Lo
THE 5D 9
(1) z0gs
(2) o8y -
(3) SoS
(4) ony
©



% L baﬂs ‘+]es
30. The Constltut“’n errl tit ing
A, The state from ™ om cep¥

' ia
d gtaté

B. Citizens ©
title from 2 or

m
Which of these gtate

correct ?
(1) A only
(2) Bonly
(3) Both A and B
(4) Neither A nor B

Jowing functions
nt as ex-offic1o

Gabha has been

31. Which one of the fol
of the Vice-Preside
Chairman of the Rajya

wrongly listed ?

(1) He presides over the meetings f
onducts’1

the Rajya Sabha and ¢
business.

(2) He protects the privileg
members of Rajya Sabhg.

(3) He can dissolve the Rajya Sabha.
okegperson of the

the President and

(4) Acting as t ﬂ
Rajya Sa
the Lok % ,

. Blood does not coagulate inside the
body due to the presence of

e

(1) Haemoglobin
(2) Heparin

3) Fibrin

1) Plasma

(1) o5 ey o, Sy
oo w

(2) Tresgey 8B 000 55
(3) U"&’S‘\/)?;iﬁ) Cj(‘,jg f)O:iJCf;O

(4) TFR8 SoBaxko §Ee, Ty oy
PR SgSarBoidcso

32, $tiod’ i sor AT

(1) SO
(2) TI00

(3) 2

(4) T



33. Consider the follg
Wi

A. The distancg R 13

g Statem

be trangf ver wi: . ohts:
greater tlff'red Vig }};(;h datg ca
Communje 4N that of Uetooth -1n
B. Data over ation (NFC) i ear Fielg
while datg I(:IFC can beechnolo
Encrypted. R Bluetogyy, ca(:rfptt%d
Which of the °
correct ? above Statementg ;
(1) A only 1s/are
(2) B only

(4) Neither A nor B

. A fault i
34 ult in a computer program which

prevents it from .
WO .
known as rking correctly is

(1) Booting
(2) Bug

(3) Phishing
(4) Spam

A

3 rect
about “E-commerce” ?

(1) It involves issuange O portant
business reportsyn the Internet

(2) It keeps tr& paper based
transaction M t Internet

(3) It sup
processes

(4) It conducts business
Internet

35. Which one of the followi
&

S*decision ma}{ing
ough public opinion
over the

Rig Vedic gods

36. Which of the following
y between the

acted as an intermediar
gods and the people ?
(1) Indra
(2) Varuna

(3) 20N

VSEAAS

ex7eo78 DO 1 Sor sy
' 5 85 D S 3
(NFC) &5 U E0 Ceri et
200
wwéés a& 5"’(550 o0,
2 ;509,366 I()Q?s 26?5?0%”50‘; oY '{30500& .

(1) A SPE

(4)

35. g - S0y KODOD WY WOTY, Ko00w0G.

(1) 0eBR5E" DRPEIO SRSECRRIASES
DO

(2) 30e5Re5E’ W0 0B TTOIO 963

(3) BEHSa0 THT FoTETE PEAS
S50 w00

(4) goeaBeS Trgor TS AFTE

36. e, Bste ST S0 203
BHE IXD 9
(1) 308
(2) 083
(3) W

(3) Marut
(4) Agni

(4) eofy |



40. Which Ofthe fono .
to the Qauvery Wate f Stat .
(1) Tamil Nagy, g sha lpartles
Pradesh = 'hatakg andZTte?
2) Tami dhra
((3; Tzzlill I\Iila(iiu, Karnataka and K,
a
Kerala % Andhrg Pradeslfralii
an
(4) Telangana, Karnat
Nadu aka and Ty

following is i
ron-ore f, :
ndia ?

(1) Vindhya
(2) Kadapa
(3) Dharwad
(4) Gondwana

42. Which (}f the following was recently
recggnlzed as one of the largest
‘Pelicanry’ in the world ?

(1) Neelapattu bird sanctuary
(2) Uppalapadu bird sanctuary
(3) Atapaka bird sanctuary,

(4) Majira wildlife and biQ
43. Which of the f @ statements
t the New Delhi

is incorrectaab '
Internati rbitration Centre

(NDIAC) fb) o
(1) Itwillb qutonomous Instl

of national importance

tution

() It will have seven mem
the Chairperson _
(3) The members of the NDIAC will hold
office for five years
(4) The accounts of the N

be audited and certl'fl .
Comptroller and Auditor

of India

bersincluding |

A

VSEAAS

40, 556 50 BT° 50238 dTTros, SLREN

o°g°e>o.
<&/

(1) ég_bo;’?\)"’@, §Uv;€3§ 0800 @O@@ag

@) SITTE, Kopeos Boboko et

(4) BOOT Ko 50BN BT

é%@o@bcjéiq_jf)%@"% » SEE 2006 000

41.
P30 0§00 ?

(1) 29§ ,&
(2) &5

3) 7o ?\

(4) 6@

&5 9O DIRO (Pelicanry)

ool T

(1) Bosex 9§ @WITOEC

(2) &3O 8 eEloIrse0

(3) % RERIVevselacke

(4) o280 93591 5000 RERTaevoehicke

4

42.

43. 37 cfp@) 5008 08 SNV RS 20086

(NDIAC) 5 50250009 $OT) ©OTY
180006,

(1) erdok s &.8 $Bod 3oy

(2) 306508" PESE Ki3° IO
e5R00e T

(3) 30508 ange HesDswo D HOITE

(4) 89 greroiso So@fed wob esiioB BSOS

5 30800 esdieS BV
(©)



\p ' les
_ - nst”,
& pirectS e O jominant
7, From th shri“ed ' ve WO are
31 polic) en® o to der” “hey © ¢
.+ is PO sib omic policY’ the privd ©
it 15 F e acon0T 1t t0 hister
gotl® Of-t;e the “gprf nd i
, 40 tglr establl-stutlons.
sectol * ] inst! ome
educati? galtl atl nal InCty
-ed I’Oper
B. Inct gt d ic P ion
C. Tos#®e” "y 0 d tribu
[mpro” o among ¢
Nation jet
members f the SO¢
) Aand®
@ Band©
@ Band D
(4) AandD

he National Rural

38. Who Jaunched t
Health Scheme 10

(1) Anbumani Ramadoss
() Dr. Manmohan Singh ?\
(3) Lakshmi Panabaka Q

@ Dr.A P.J. Abd\®m

the year 2009 ?

39. In our soc <%ve come across the
term creating ‘stereotypes’. Which
of the following would be the most
appropriate meaning of the term
“stereotypes” ?
(1) judging other people negatively or

see them as inferior
g)) f:;;l;g)iieople into one image
in certaginpzzs IE'B’c'fmm ta sing part
1viti :
iobs es and taking up

(4) judging oth
. €r people posit;
seeing them gg superri)or tively and

A

@%5 & wrdas &

&S08oniss
(1) egsiorsos

(2) @1 0SS 2ok

(3) oy ses

4) 1. % 3. @28 S

K§ 30 2563‘3&

39. 200 PR 2o8’ A R e W
TR, B3 ST B0 &) Hootids

(1) REthed Bopm gFRoio, 70 &Y RS
&%) QGO DR oo

(9) (e Sy o8 W

(3) e S ST HE R
2B GO0

(4) s> IO O
BP0

§, Ry T

(©)



; Natior}ah 44. 33353533&&’)’ Q058 S
C 0
visiogit,o QO;ZSW ‘:;en NGES sk, bc‘gé«bgj 62 9 Sy g
ihe Pissl% podi®® ' giving CRI0D ooy WG 9 0 . ¢
edi® e 10. 1 ¢ ish &
00 g wtl(f GStaBoLrSe 7 (1) 356 208 5
tr];‘issionn . ne\fi Co mmission
per’ e O yu edicd dical %) B0l
Ngtjorlﬂcl I:;Inci of Me ( ) OGNS S %5 Q:‘B:) 33&§§ & 3
[ndis? ent and Rating 5
Reset) pssess | (3) 2058 s ©0% Belof
( )g,ird Medical Registration 5
| geics °2° (4) 28§ ok :ms&;ms aig
Board
' de o1l | 45. 2017-19 %
. oted maximum CTUAe % L o n
4. Indi2 lﬁig}?rof the following countries 278 2% A (gé& D Bt 3, "
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i Arabia 1 %
(1) Saudi
) Iraq
(3) Iran 30°S
(4) Venezuela 1 ) Disoese
6. Which among the 'followin.g ca& 46. 570500 (25 28 %5 |
! classified as a clinical applic 0 (‘3 RS) 8 9 8od b s

stem cells ?

(1) replace or repair
patients

(2) organ regenerati

i@%ﬂs n

(3) artificially pfoduce’germ cells
(Sperm &d egg cells)
(4) all of éve

Directions (&o. 47— 48) : Identify the
correct conclusions that can be drawn from the
statements given.

47. Statements : X<Y<L=N,X>C=Q<B
Conclusions: I. N>
II. Y>Q
M. X>B
(1) Only I and II follows
(2) Only II and I1I follows
(3) Only I and 11 follows
(4) None follows

6 e2580SE" EsrhYe 9

(1) Eros® seross TR BTy
DBDAEIH

(2) ehahme P¥sHd
(3) 5)@ Desteren e (e Sobotect
Seven)

(4) 2 @A KB

Directions (Q. No. 47 —48) : %3 o0 @ééibo
500000 DOV 006 FB VHTFTTY 000G

47, oo (Statements) X<Y<L=N,
X > C = Q <B N .
- i LN>
RO%LW (Conclusmns) PG
[L.X>B
(1) T 005 I S 509
(2) 11 o000 111 SR SO

(3) 100030 I SR SO

(4) IS (©
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(0]
(lnvls; Iia;r‘)l he m the 11(:::;?5;011:1?1;
(1) 15 km
(2) 23 km &
(3) 18 km 6
(4) 10 km

50. One evening,befere sunset two friends
Joseph a %ev were talking to each
other fac;) face. If Rajeev’s shadow
was exactly to his righ

direction was
(1) North
(2) South
(3) West
(4) Data inade

t side, which
Joseph facing ?

quate
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48. @Bouores (Statements) :

M_>_N=s>T,P2N

RISECN (Conclusions) :I.M>T
II. P>T

III.N<T

(1) II somEsao SOR8
(2) 1 580%0 111 SR TOXY

(3) TII 578> ¥
(4) 15755 @Q

o0 DO 4 3.0 BED, ;e wood
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e’ $38E5 DR R, 980 LIS Yoo
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(3) 18 8.
(4) 10 &.2.
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(1) exo
(2) s
(3) Seats

(4) cmoo eogrgo



60. Centrifugy) 1,
m is

(1) Tur bOmachiner
y

(@) Flow regulys;
(3) Drafti 108 devie
rafting deviee e

(4) Intercooling dey;
ce

61. The beam havi

aving one end free and
(3) Overhang beaQQ
(4) Simply S"ﬁﬂ\m o

62. In orderélt flow takes place between
pipeline, the differential

hese points must be

end fixed is called ag
-(1) Cantilever beam .

(2) Continuous beam

two points ina
pressure between t
more than

(1) Frictional force

(2) Viscosity

VSEAAS

ent Of inertia of a

64. The prorer® py whie™2 body returns
- gl % ter removal of

of these is a non-hookean

65. Which
material ?

(1) Steel
(2) Rubber
3) Aluminium

(4) Copper

66. The point through which the whole

weight of the body acts, irrespective of
its position, is known as

(1) Moment of inertia

(2) Centre of gravity

(3) Centre of percussion

(3) Surface friction

(4) All of the

above

4./%'

(4) Centre of mass
- (©)
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% PART - B Vi
jtrasonic [ 55, G
: dn ear lappipe :
51. The abrasive slurry u'se artICleS of PPing is ap Operat
. tains fine P (1) After h 10n
machining con eat treatment
: i 2) Pri
(1) Aluminum oxide (2) Prior o heat treatme
. nt
(2) Boron car bide (8) For gear recondition;
. n
(3) Silicon carbide | (4) None of these
(4) All the above 0ption®
96. Reci ' r@
. procating
52. The energy absorbed 17 2 boc?y, " ben (1) Negativ ;
it is strained within the elastic Jimits, (2) Posi ment pypy,
ositi
- known a8 ) FosWiye diSplacement pump
(3), Piaghagm pump

(1) Strain energy
(2) Resilience
(3) Proof resilience

(4) Modulus of resilience

53. Which equation must be%sgd while
(1) Newton’s S

dealing with ﬂui%pr lems ?
n
(2) Newto

% .
B ervation of momentum

(3) Law o

(4) Continuity equation

54. Pitot tube is used for measurement of
(1) Pressure
(2) Flow
(3) Velocity at a point
(4) Discharge

Al

QQ Ision pump

57. The point of contra-flexype 1S a poj
where o
(1) Shear force changes sign
(2) Shear force is maximum

(3) Bending moment changes sign

(4) Bending moment is maximum

58. A grinding wheel is said to be of
if the abrasive grains canbe

easily dislodged.
(1) Soft grade

(2) Medium grade
(3) Hard grade
(4) None of these

(©)

)\ 4



a rigid body,
then they must either

(1) Meet in a point
(2) Be all parallel .
(3) At least two of them must me

(4) All the above are correct

68. The continuity equation 1s connected

with
(1) Viscous/Unviscous fluids
(2) Compressibility of fluids
(3) Conservation of mass

(4) Steady/unsteady flow

69. The capacity of telescope %&ing
a sharp image is called it
(1) Definition ?‘
(2) Brightnes Q
(3) Sensit'@
4 M g@tmn ,

70. The graphical representation of

variation of axial load on y axis and
position of cross-section along x axis
1s called as

(1) Bending moment diagram
(2) Shear force diagram
(3) Stress — strain diagram

(4) Trust diagram

72. Which

of the _
Quantity ? %’“ ng js o .
(1) Ener oy

2) M

(3) Magentur,
¥

. Foot valves g

: Provideq
line of a centy; In the

- pto
(1) Avoid Priming

the pump

Sucti()n

EVery time y,q St

the liquid

(3) Minimize the fluctuation i
discharge

(4) Control the liquid discharge

74. Kinetic friction is the

(1) Tangent of angle between normal

reaction and the resultant of normal
.. reaction and the limiting friction

(2) Ratio of limiting friction and normel
reaction

(3) The friction force acting when the
body is just about to move

ot ting when the
(4) The friction force

body is in motion 0
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of power ? fonowin . 21
€ls n a0 tB
(1) kW (ki Ot the unj .4 cO ing !
(kilowg tt) unit | 79, The 17~ jer ated PY
C
pumpP *

(2) hp (hOI'Sep()We
r
® kg misee

4
(4) kcal/kg sec (3 NozZ!
(4) Gover”
of ej ]
with the arm of(z;ther force of cougle | 80. In & (illing aluminum, 4 drill with
€ couple ; upie - AR ngle 18 ed
gle
g; 1I\{/Iesultant couple 1s called (1) Zero ;leili zngle . %
ell
oment of the fOI‘CeS (2) LO'W  olix o S sed
(3) Resulting couple (3) High 7° &c ', be used
h 1, an
(4) Moment of the couple (4) Any D€ V
rizontal Plane (HP)

77.

78.

Discharge of a centrifugal pump is

roportion
prop alto___ , where D 1s

the Impeller Diameter (D).

(1) D

2) D* ?\
o &

(4) D. 1/D? &0

The force acti ong the circumference

gs in the walls 1n a
he longitudinal
s 18 called

will cause streé
direction normal t0 t
axis of cylinder; this stres

(1) longitudinal stress

(2) hoop stress

(3) yield stress
(4) ultimate gtress

81. ¢ above Ho
ah gront of Vertical Plane (VP). The

. (1) First quadrant

(2) Second quadrant

3) Third quadrant
4) Fourth quadrant

82. The working from whole to the part 1s
done in surveying in order to ensure

that
(1) Survey work 1s completed more

quickly
(2) Number of errors 18 minimum
(3) Plotting is done more quickly
(4) Errors and mistakes of one portion
do not affect the remaining portion
(C



83. Maximu/® o
hydraulic ra o8
(1) Waste valv ]
o S
(2) SupPY P?P: "y
(3) SupplY P’pbel, s large
ham
(4) Ram ¢

«are/

>
84. The voluté Pump shaft-

pumps with
(1) Multistage' ertical
@ Multst?E” vhorizontal
(3) Single stag e
(4) Single stag®

a2 map represents

1om o ntative

ound, the TePrese

he scale 1S

85. When
10 mon the
fraction of £

1) 1: 10
(2) 1:100
3) 1:1000
(4) 1:10000

way of the vehicle on

idding 2 .
e & th can be avoide

a level circular pa
if the force of friction betwee

wheels and the ground 1s
the centrifugal force.

(1) Less than

(2) Greater than

(3) Equalto

(4) Data insufficient

86.

87. Buoyant force i

VSEMS |
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(1) the re , : i ian | 95,
float; sultang ree 4. 45 strain relationship for Newton Wh?n the ling b
ing body actlng 91. Str.e". HonzOntal P SDaral] \
(2) the force on a bod Op 4 ﬂu]d 18 = Plane (VP) Wane (HP) Qll t»' \
S“rmunding it dye to theﬂ ) Parﬂb‘; ; length i, " Veeqy get?d\,ﬁ‘i
i . 1C L ¥
(3) egual to the volum g (2 H.‘P"r © (1) Front View st% \
dxsplaced € of 1iquid 3) Linear (2) Top View
(4) non [nverse tYP€
e of the aboye (4) (3) Both (1) and
lanning (@) Side view
88. In centr; 92. These maps ush bbep Titves
. ffici i n.fugal Pumpg installatio of treeSyshrubbery,
elliciency ig Obtained Wh’ maximu and other eatures 96. In operatiop th
are en theblad: " 1aps minimum 5 ;h Zchip ‘hik
1 . ‘ . € begip, . Ky
(2) ztralght , % ng maps and it reacheg 1, thimm"gonl?s“
th : Mayj, ¢
(2) bent forwarq é pogtaphic maps e cut termlnates k) ""“an‘\‘
(3) bent backwayq j (1) Conventiopy) .- h
) 4)%adastral maps , al millj,
(4) radial (2) Climb miljjp,
(3) Face millj,
g
93. A base line in a chain survey (4) End milling
89. The horizontal pogff, " (1) Checks the accuracy of the
staircase, is known g A framework
(1) Rise (2) Enables the surveyor to locate the 97. What is the Variation o
(@) Fli ;’nterio}: details which are far away with depth for aty Susmtotal Prsg
) rom the main chain li if w o el gy
(3) Wind ) Fixes up the dirention. . e neglect variation i, "
‘1xes up the directions of all other (1) Linear edffnslly‘
(4) Tread lines

hen the angular and line
measurements are equally precs:
traversing, the balancing of a trave®

is done by
(1) Transit rule

2) Empirical rule
3 Bowditch’s rule
(4) None of the abo'

elastic Properties
called

(1) HomOgeneOuS

(2) InelaStic
(3) Isotr0pic

(4) ISentropiC

(4) All of the above

94. The Materials whic

(2) Paraboljc
(3) Curvilinear
(4) Loga"ithmic

h exhibit the Same

In all direction
Sare| 98, A secondary auxiliary y;
eco o s
Projection off of the )
(1) Front view

2) TOp view

(3) Primary auxiliary view
(4) None of the above
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ed a8

99. Station point 18 defin
(1) The position I ich the
instrument 15 set upP
(2) The position © the 0
that Jetermines
rendering
(3) The position
(4) None of the above

erslOectlve

of the object

100. Dynamic frictio
friction 18
(1) same
(2) more
(3) less

(4) may b
nature of surfaces

e less or more depending O

and velocity &

101. The bulk modulus of el h?\
(1) has the dimensioné;/p essure
(2) increases with pressu
(3) is large )% id is more
compressib
%dent

(4) 1s of pressure and
viscosity

102. Modulus of resilience is the ratio of

(1) minimum strain energy and unit
volume

9) maximum stress
@) ress energy and unit
volume

(3) proof resilience and unit vo]y,
me

(4) resilience and unit area

VSE AAg
103. The isometric projection of a circle
is a
(1) Circle
(2) Ellipse
(3) Hyperbola
(4) Parabola

104. The line in which the plane pagg
N

through the gi t and the nop

and south rsects the surfy,

of the eafthy is ¥lled e
(1) Arb Meridian

netic Meridian

) True Meridian

(4) None of these

105. The ratio of lateral strain to the

linear strain within elastic limit is
known as

1) Young’s modulus

(2) Modulus of rigidity

(3) Modulus of elasticity

(4) Poisson’s ratio

106. The fluid gains while passi

through the impeller:
(1) Velocity

(2) Pressure

(3) Temperature

(4) Velocity and pressur® (



”

107 In a singly reinforced beam, if the
permlSSIble stress in concrete reaches
earlier than that in steel, the beam
. . St
section is called (1) Reduce built B
(1) Under reinforced section (2) Break up cp; el
. . c 1

(2) Over reinforced section (3) Improve mac:

3) Economic section (4) All of thege nablht
(4) Critical section

108. One horsepower is equal to
(1) 102 watts
(2) 75 watts
(3) 550 watts
(4) 735 watts

109. Slenderness ratio is the ratio of jve
length of column and
(1) Lateral dimension o

(2) Least radius o g
column

112. A right e
r
Hor1zon|&n it b eslt
a sect ane paralle] t, 0 Hog, tby

gsectmg its axis Thet it
he section is e

Parabola

(4) Circle

113. The device used to measure the fluid

tion of a )
pressure 1s

(1) Hygrometer
(2) Calorimeter
(3) Manometer

(4) Thermometer

(3) Maximum gyration of a

column

(4) None %ﬁ above

110. The weight of a body is due to i

114. These are vertical distances abo

(1) Rotation of the earth . \ ane
(2) Forces experienced by body in common datum, referenc
atmosphere point ,
(3) Force of attraction experienced by (1) Plats C
particles (2) Elevations :
(4) Gravitational force of attraction (3) Traverse 3
towards the centre of the earth (4) Profiles .
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193, Which of the fOHOWin

true ? S Statement i

its magnitude

(2) A vector is any Positive o,
negative physicg] Quant
can be completely Spec
magnitude

ity that
fied by jts

(3) A scalar is any Physica] quantity

126. How can relatiVe]y "8

.
made to float gy, the ®hgy,

eSsd ()h]QQ
(1) By altering the h By o

(2) By altering ¢y, £
object

ape 4

I'Ceg actin

(3) By altering th,q sheay ¢

on the object Uty ”

(4) None of th%@ q

that requires by}, & magnitude | 127. A drafitube I8 useq with

(4) A scalar is any Physical quantity
that can be completely specified y

1ts direction &

124. Bernoulli’s equation c@t e applied

when the flow is
(1) Rotational&o

(2) Turbulent

3) Unﬁl
(4) All ofthe above

125, What does R.C.C. stands for ?
(1) Reinforced Cement Concrete
(2) Reinforced Concrete Cement
(3) Reinforced Combined Cement
(4) Reinforced Constituent Cement

( @ e turbine
on wheel turbine
Reaction turbine

(4) None of the above

indicates
(1) A vertical cliff
(2) A valley
(3) A ridge
(4) None of the above

denoted by the letters
(1) AtoH
2 ItoP
(3 QtoZ
(4 Ato P

b
b

128. When several contours coincide, it

129. The soft grade grinding wheels ar¢

(©



115. If five forces are actit8 = ' = 4 700
particle and having a1 %ng r, then
between each and are collinear;

(1) The net force qcting on the body 1s

zZero

(2) The net for
horizontal

(3) The net forc
vertical

(4) The net force actin
at an angle of 45°

g on the single

ce acting on the body 1s
e acting on the body 1s

g on the body 1s

116. This type of solid has a polygon for a
base and triangular lateral face that

intersect at a vertex
(1) Pyramid

(2) Prism

(3) Cone

(4) Torus

A

117. The rate of doing Wonkniwn

(1) Potential engr
(2) Kinetic efer
(3) Power

(4) NOS these

118. The normal stress is same in all
directions at a point in a fluid

as

(1) only when the fluid is frictionless

(2) only when the fluid is incompressible
and has zero viscosity

(3) when there is no motion of one fluid
layer relative to an adjacent layer

VSEAAS

119. In a singly reinforced beam, the
effective depth is measured from its
compression edge to

(1) Trans-axial side of the beam
(2) Tensile reinforcement

(3) Neutral axis of the beam

(4) Longitudinal central axis

120. Cold working of% is defined as

working
(1) Atits & ation
temperattice
2) Ab;%\'ecrystallisation
perature

Below its recrystallisation
temperature

0(4) At two thirds of the melting

temperature of the metal

121. Centrifugal pumps are used to
transport

(1) Pressure
(2) Speed
(3) Power
(4) Fluid

122. Strain is defined as the ratio of
(1) Change in volume to original
volume
(2) Change in length to original
length

(3) Change 1 ‘
original cross-sectional area

n cross-sectional area t0

(4) in case of an ideal fluid

(4) All the above options o




137. If the streamlines of the particles in a

flow are parallel tq each other, what
type of flow can it be 9 |

(1) Steady
(2) Unsteady
(3) Uniform

(4) Non-uniform

138. Reaction turbines are used for
(1) High head
(2) High head and low discharge
(3) High head and high discharge
(4) Low head and high discharge

139. Thisis aline terminated by arrowhead
indicating the direction and extentof a

dimension
(1) Dimension line ?\
(2) Extension line Q

(3) Arrowhead line

(4) Center line E&

140. A simple circular curve is designated

by the
(1) Radius of the curve
(2) Curvature of the curve

(3) Line tangent to the circle

(4) Angle subtended at the centre by a

29

a substance that

be subjected to shear foree

nds until it fi))q i
y

141. Fluid 18

(1) cannot

(2) always expa
container

(3) has the same ?,hear Sf.:ress ata boing
regardless of its motion

(4) cannot remain at rest under aet; -

of any shear force

142. Continuous € . s% built up edge
are formedAUr achining of
(1) Britt etals
(2) il metals

metals

0 oft metals

43. The coefficient of friction depends
upon
(1) Nature of surfaces
(2) Area of contact
(3) Shape of the surfaces
(4) All of the above

144. The viscous force _ the
relative motion between the adjacert

layers of a fluid in motion.
(1) opposes
(2) never affects

(3) facilitates

chord of particular length

(4) none of the above 0



ary tan
130. The imag‘“zy e
insucha¥ edirectl

cves

point gV¢® called 8
. t, 15

the poin®

(1) Path Jlin

(9) Streak 17
1ne

(3) Filament "

(4) Stream line

R Ving Wlth a
131. A body of Mas® I‘n, n;:ikes another
| stant velocity V' 8
con

locity but in opposite directm;l. ';‘.he
veloci o
common velocity of both the

after collision 15

(1) 2v &
2)0 %

(3) 4v v

(4) 8v Q

132, &g to Archimedes principle, if
5 a body is immersed partially or fully

136. Center of percussion is
n a fluid then the buoyancy force 18

' (1) The point of center of gravity
— the weight of flyiq displaced
by the body.

(2) The point of metacenter

(3) The point of application o w]
(1) Equal to resultant of all the forces tendl:;
ho!
(2) Lesgs than o cause a body ¥ rotate abe
certain axis
(4) Unpredictable

(4) Point of Suspensmn

(3) More than

T
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145. Which of the follo""” n“; ;ga

Pumps has hlgher Spemﬁc spee

the others ?

(1) Axial flow -
(2) Radial flow
(3) Mixed flow

ific speed

(4) All have same SPect

146. Shear stress in static fluid 18

(1) Always zero

(2) Always maximum

imum

(3) Between zero to maxi
147. Francis t&

(1) Radlas)g urbine

(2) Axt turbine

3) Mixed flow turbine

4) Unpredictable

(4) Inward flow radial type turbine

30

&
<P
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148. Maximum shear stress in a trianguly,
section ABC of height H and base p

occurs at

(1) H

(2) H/2

(3) H/3

(4) Neutral axis

149. The perlod@ is given by(where
ocity of particle in

(2) 2n/o
(3) 2 X ®
(4) /o

150. Initial Flow occurring in a pipeline

when a valve is being opened
/——"_”

suddenly 1s
(1) steady
(2) unsteady
(8) vortex

4) rotational

©
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